vV B HEE

Gl/4"

M14*1.5

1/4" NPT

1/4" PT

M12*1.5

1/2" PT
7-16-20UNF 4h
7-16-20UNF A

1/8" PT

1/8" NPT
VERRiEE

HELR / WS /
IKFeHEER / M12 fiiE
VEBEOESE

=B | BE | BHE
VBRI E
-100kPa...0 ~
35kPa...100MPa
VERNE

B1 SS316L RANKENE

Y ERE

-30 to 105°C
VIERE

-20to 85°C
VRERE

-40 to 125°C

v i E& R

IEC 60068-2-27/32
v MR AE

IEC 60068-2-6/64
ViATE

IEC 61000-6-2/3
VSR

IP65

www.atlantis.com.tw

FERAE HAh R4S

VN E

N

v B E S
BEERNBEEESR
ViR IREE ]
BEEBASHERESR
v &S5
EEERLEREMES
VI{FER
EEERLEREMES
ViIEE

+0.5%F.S.
VESEEEER  E68M%)
+0.1%F.S.

VREER
+2.0%F.S.(0~60°C)
+1.5%F.S.(-20~85°C)

V 2 FERFE

<lms (EF+%] 90%F.S.)
VERSEMm
>10*10° B A 1ER
VBRI

>100MQ / 500VDC
(200 MQ / 250VDC)
VE=S

120~150g

EZhir

ATIANTIS

B SRR Eixea
BU5R: PT320-C R
BT

PT320 FRIIBFBICH—ERIL = NMEMISHE - B85\ &
B - ZREADEDR - MEE8E - BE8RARIE

BEtEiR - HEREEHIRIEETREBNERNT

M1 2fii i

AEERIEEAZE - BRERSE - BIEN ERREHRES -
(FREFXIRBEBRE - UIRIFIRERE)

HeE

B OEM fR#3

B IERIENREREEZTE
B SHEE - SREE

B = REMITE - TRERSE
B EEEEE

B N85 - REFEEIELS




RY KiEiRE

ATLANTIS

BEp | &1 'iF+
(ARE|H) | &2 : B

ERST | AR - |iR+
(2IRER) | BiR - WREH

L = 18 : W
%ggg) HEREL - %gg% i . Hig
$12 | WML B EEH

c EBiE L= | e | R

%ﬁggﬁt) gjrr; : :ﬁ%w (21REA) | £t2 : Wi

|| e | B AL~y

B3,
BEERER
Code Ef2EE = ENES

P1 0~35kPa G A 150%F.S. 500%F.S.
P2 0~70kPa G 150%eF.S. 500%F.S.
P3 0~100kPa G A 150%F.S. 300%F.S.
P4 0~250kPa G A 150%eF.S. 300%F.S.
P5 0~400kPa G A 150%F.S. 300%F.S.
P6 0~600kPa G A 150%eF.S. 300%F.S.
P7 0~1MPa G A+S 150%F.S. 300%F.S.
P8 0~1.6MPa G+S 150%eF.S. 300%F.S.
P9 0~2.5MPa G+S 150%F.S. 3009%eF.S.
P10 0~4MPa S 150%eF.S. 300%F.S.
P11 0~6MPa S 150%F.S. 300%F.S.
P12 0~10MPa S 150%eF.S. 300%F.S.
P13 0~16MPa S 150%F.S. 300%F.S.
P14 0~25MPa S 150%eF.S. 300%F.S.
P15 0~40MPa S 150%F.S. 300%F.S.
P16 0~60MPa S 150%eF.S. 200%F.S.
P17 0~100MPa S 120%F.S. 150%F.S.

frst: G=RE A= B S= ZIE

www.atlantis.com.tw




®
== ATIANTIS
WL S EREE
v D1 D2 D3 D4 D5
4-20mA 0~5V 0~10V 0.5~45VR/M | 0.5~4.5 JFELL{I
12~36VDC 12~36VDC 12~36VDC 5VDC 5VDC

gnfaysEE

PT320-C 13| REiEEERBNERZS
= EARR Code JI=[=]

Code

G2 G1/4” M14 M14*1.5 2N 1/4" NPT 2P 1/4" PT
BiEiES M12 M12*1.5 4P 1/2" PT E 7/16-20UNF % i 7/16-20UNF

1P 1/8" PT N 1/8" NPT = - = —

H | e | c ] spxws | p RS EEE A | MI2mzZeiEE

G | =B | A | R [ s B - | -

-100 kPa--0~35 kPa---100 MPa
ESERLERREEREIEAERRE
TNRES /B

/C el

SRR

www.atlantis.com.tw




